NL CASSON DAS	COC 4, ASM 100	13600,	TIX639 100	60169
furveyor:	MAA DOG ATM	ENT	Date / Time	7 18
Pre-assign / CCU / Insured Vehicle No Name of Insured	VIVIA 201 YB	Claim No. Policy No.	Registered in Merimen: Som ov VPA P21	PXT (~2
Insured Tel No. Excess Sec II :SS Is driver the owner	D.O.A: DEPT (E) Nature of Accident:	Make / Model Place of Acciden	Manage 01.11	
If NO, Driver Nam Driver Tel Y	No.: (V/L: YS)/ NO.)	OI GIA REPOR Insured Liability	T: VBs / NO ; TP GIA REPO y: % Final ? Y	
INSRS: WSP: Tel: Liability: RMKS:	DJCDC	INSRS: WSP: Tel: Liability: RMKS:	INSE WSP Tel: Liabs RMK	diry
Date/Time				
16-8-18	Por grab service.	(W) Veh	STAGE Non-Reporting ltr (1st) Non-Reporting ltr (2nd) Non-Reporting ltr (2nd) Non-Reporting ltr (Final) Notification ltr (if non-pickup) Call Ol: After call ltr to Ol: Documentation Check List: H Notification ltr (if non-pickup) After call ltr to Ol: Authorisation To Act: Release Voucher: Final Repair Bill:	111
PRELIMINARY ADVICE	Date/Time Sent By: Va Av		Car Rental Invoice: Towing Invoice LTA / OIA : Medical Bill: PIB: Mandate/Reject Instruction: LOD Payment Breakdown Form: Post-Repair Photos:	X X X
	Date (Ime Sent By: Ve Av		Others:	
FINALIZATION	Date/Time: Confirm with:		Confirm by:	
Repair Cost: FINAL SETTLEMENT Final Liability: Repair Cost: (6 5 T) Loss of Rental (LOR): Loss of Use (LOU): Loss of Income (LOI): LOR only LOU only	SS		Email Catt III If NO or B 28, Ass. Lin	Call
GIA/LTA Search Medical: Disbursement: Legal Cost Total:	SS)	Claim status: Normal/Reject Report Format: Survey fee:	UPrivate Settle
FINAL PAYMENT	Date/Time: Confirm w/th:	ENGIN	Email Call	KOING PAIL
Payee 2. (Strike if N.A.) Payee 3: (Strike if N.A.)	SS	/	34.50 M	A. W. L.

Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars		
Owner ID Type:	Company	
Owner ID: Vehicle Details	7200G	
Vehicle No.:	SLV9642E	
Vehicle to be Exported:	Yes	
Intended De-registration Date:	26 Jul 2018	
Vehicle Make:	MAZDA	
Vehicle Model:	MAZDA3 SEDAN 1.5 AT EU6	
Primary Colour:	Blue	
Manufacturing Year:	2017	
Engine No.:	P520455263	
Chassis No.:	JM6BN22A8H0163034	
Maximum Power Output:	88.0 kW (118 bhp)	
Open Market Value:	\$14,934.00	
Original Registration Date:	24 Jan 2018	
First Registration Date:	24 Jan 2018	
Transfer Count:	0	
Actual ARF Paid: Intended PARF Rebate Details	\$14,934.00	
PARF Eligibility:	Yes	
PARF Eligibility Expiry Date:	23 Jan 2028	
PARF Rebate Amount: Intended COE Rebate Details	\$11,200.00	
COE Expiry Date:	23 Jan 2028	
COE Category:	A - Car up to 1600cc & 97kW (130bhp)	
COE Period(Years):	10	
QP Paid:	\$36,001.00	
COE Rebate Amount:	\$28,800.00	
Total Rebate Amount:	\$40,000.00	

The information contained herein is correct as at 26 Jul 2018



ENGINEERING & TRADING PTE LTD

GST / ROC COMPANY NO: 201101753C

Quotation

From:

PEGASUS ENGINEERING & TRADING PTE LTD

74 KIAN TECK ROAD SINGAPORE 628800

Officer in Charge : WEE TZE FAH

Tel: Email: Customer:

GRAB RENTALS PTE LTD

18 SIN MING LANE #01-08 MIDVIEW CITY SINGAPORE 573960

Attn:: Tel:

Fax No.:

Vehicle No. : SLV9642E Chassis No. : JM6BN22A8H0163034 Third Party Insurer : AXA

Model: MAZDA 3 Date of Accident: 25/07/2018

Remarks:

ITEM	DESCRIPTION	Qty	UNIT PRICE	AMOUNT (SGD)
1	BOOTLID	1	958.0000	R> 958.00
2	BOOTLID MAZDA 3 BADGE	1	54.0000	APT 54.00
3	BOOTLID SKYACTIV BADGE	1	64.0000	64.00
4	BOOTLID CENTRE EMBLEM BADGE	1	75.0000	75.00
5	BOOTLID REFLECTORS	2	265.0000	/ X 530.00
6	BOOTLID INNER TRIM	1	121.0000	⊀ 121.00
7	BOOTLID INNER TRIM CLIPS	4	5.0000	× 20.00
8	BOOTLID RUBBER STOPPERS	2	13.0000	₹ 26.00
9	BOOTLID LOCK	1	153.0000	× 153.00
10	BOOTLID STRIKER BOTTOM	1	35.0000	⊀ 35.00
11	BOOTLID WEATHERSTRIP	1	130.0000	¥ 130.00
12	BOOTLID HINGES	2	146.0000	₹ 292.00
13	BOOTLID KEYLESS SENSOR	3	78.0000	₹ 78.00
14	REAR END PANEL	1	506.0000	K ≫ 506.00
15	REAR END PANEL INNER TRIM	1	86.0000	/ ₹ 86.00
16	REAR END PANEL INNER TRIM CLIPS	4	5.0000	₹ 20.00
17	REAR LAMPS	2	504.0000	1,008.00
18	REAR LAMP PANEL	2	358.0000	⊀ 716.00
19	REAR LAMP HOLDER CLIPS	8	26.7000	× 213.60
20	REAR BUMPER	1	,/4. 1,075.0000	de - 1,075.00
21	REAR BUMPER REFLECTORS	124	-× 51.0000	KH-60 /102.00
22	REAR BUMPER END SPLASHIELD COVER	1	80.0000	MV ★ 80.00
23	REAR BUMPER CLIPS	10	5.0000	AU 50.00



ENGINEERING & TRADING PTE LTD

GST / ROC COMPANY NO: 201101753C

Quotation

From:

PEGASUS ENGINEERING & TRADING PTE LTD

74 KIAN TECK ROAD SINGAPORE 628800

Officer in Charge: WEE TZE FAH

Tel: Email: Customer:

GRAB RENTALS PTE LTD

18 SIN MING LANE #01-08 MIDVIEW CITY SINGAPORE 573960

Attn:: Tel:

Fax No.

Quotation No.: QO18/07-1373	Quotation Date: 26/07/2018	Terms: 30 DAYS
Vehicle No. : SLV9642E	Chassis No.: JM6BN22A8H0163034	Third Party Insurer : AXA
Model: MAZDA 3		Date of Accident: 25/07/2018
Remarks :		

ITEM	DESCRIPTION	Qty	UNIT PRICE	AMOUNT (SGD)
24	DEAD BUILDED DEINEODOEMENT	-	500,0000	B/F 0.00
24	REAR BUMPER REINFORCEMENT	1	J.√ 538.0000	330.00
25	REAR BUMPER SIDE RETAINERS	12	LH-7 37.0000	RH -11 74.00
26	REAR BUMPER SIDE HOLDERS	12	L 4-X 46.0000	Ry . MY 92.00
27	REAR BUMPER SIDE HOLDER RIVETS	4	NAV 9.0000	MYX 36.00
28	REAR BUMPER TOW COVER	2	LH-X 18.0000	RH-M3/36.00
29	REAR BUMPER SCREW SPACER	4	8.0000	X 32.00
30	REAR LUGGAGE FLOOR PANEL TRIMBOARD	1	350.0000	× 350.00
31	REAR LUGGAGE FLOOR FOAM COMPARTMENT TOOL	1	166.0000	× 166.00
32	REAR LICENSE PLATE LAMP	2	72.0000	× 144.00
33	REAR LICENSE PLATE GARNISH	1	50.0000	★ 50.00
34	REAR FENDER	2	1,175.0000	2,350.00
35	REAR FENDER INNER COWLING	2	235.0000	N/ ★ 470.00
36	REAR FENDER INNER COWLING CLIPS	8	5.0000	× 40.00
37	REAR FENDER LOWER PANEL	2	356.0000	X 712.00
38	LESS 20% ON ITEM 1 - 36	1	-2,296.5200	-2,296.52
39	REAR BUMPER PARKING SENSOR	1	450.0000	
40	REAR LICENSE PLATE	1	80.0000	N ^{IV} × 80.00
41	TO CHECK ELECTRICAL LIGHTING CONCERNED.	1	120.0000	90 120.00
42	TO RUST-PROOFING OF THE AFFECTED AREAS.	1	120.0000	30 120.00
43	TO REMOVE AND REFIT INTERIOR FITTINGS, TRIMMINGS, GARNISH AND OTHER, TO ENABLE REPAIR.	1	150.0000	60 150.00
44	TO TRANSFER OF BOOTLID FITTINGS, ATTACHMENTS AND PERFORM WATER SEEPAGE TEST.	1	160.0000	√ 160.00



ENGINEERING & TRADING PTE LTD

GST / ROC COMPANY NO: 201101753C

Quotation

From:

PEGASUS ENGINEERING & TRADING PTE LTD

74 KIAN TECK ROAD SINGAPORE 628800

Officer in Charge: WEE TZE FAH

Tel: Email:

Remarks:

Customer:

GRAB RENTALS PTE LTD

18 SIN MING LANE #01-08 MIDVIEW CITY SINGAPORE 573960

Attn:: Tel:

Fax No.:

Quotation No. : QO18/07-1373 Quotation Date : 26/07/2018		Terms: 30 DAYS	
Vehicle No. : SLV9642E	Chassis No. : JM6BN22A8H0163034	Third Party Insurer : AXA	
Model: MAZDA 3	//!	Date of Accident: 25/07/2018	

ITEM	DESCRIPTION	Qty	UNIT PRICE	AMOUN	NT (SGD)
45	TO REINSTALL OF REAR BUMPER PARKING SENSOR.	1	120.0000	3/F 3,0	0.00 120.00
46	PANEL BEATING, KNOCKING AND STRAIGHTEN THE NECESSARY PORTION, REMOVE AND RENEWAL OF PARTS, ADJUST AND REALIGN THE SAME.	1	1,200.0000	600	1,200.00
47	PUTTY AND SPRAY PAINTING OF THE AFFECTED PORTION.	1	1,400.0000	600	1,400.00

home the Roy

LKK Auto Consultants hence notify

the Repairer of the following:

- . To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis.
- No flegal min fleat = 1 intowed
- is subject to final approve from Insurance Company

Acknowledged by Repairer

Signature:

Date:

Sub Total 12,986.08 GST(7.00%) 909.03 Total (SGD) 13,895.11

LKK AUTO CONSULTANTS PTE LTD (TP) +

Menu



Re:MANDATE IA UPLOADED

Type

Q Question

Message

Hi Joy Pls proceed, tks-vo

Reply



51 UBLANE 1, 902-25 PAYA URI INDUSTRIAL PARK, SINGAPORE 400933 TEL : (065) 62563561 FAX : (065) 62564315

Immediate Advice

To: AXA Insurance Pte Ltd

Date: 30/7/2018

Survey Details:

Date of loss	25-Jul-18
Date of appointment	26-Jul-18
Date of survey	26-Jul-18
Location of survey	Pegasus Engineering & Trading Pte Ltd

Vehicle Details:

Claim Type:	THIRD PARTY CLAIM
Vehicle number	SLV 9642E
Make and Model	MAZDA3 SEDAN 1.5 AT EU6 - 1496cc
Date of registration	
Excess	
Market Value	\$ 75,000.00
Parf Rebate	\$ 40,000.00
Nett Loss	\$ 35,000.00

Repair details:

Initial Estimate	12 986 08

Proposed/Revised repair cost:

Parts	\$	1,806.40
Check items (estimate)	\$	
Labour	\$	1,400.00
Total	\$	3,206.40
Lump Sum(if applicable)	S	

Number of days for repair	04 day
	- Andrewson -



31 UBI AVE 1, 992-25 PAYA UBI INDUSTRIAL PARK, SINGAPORE 400933 TEL: (965) 62563561 FAX: (065) 62564315

Remarks:

HEAD TO REAR ; IN	SURED BEHIND.	

Mandate:

Liability(TP)	100%	
Proposed repair cost	\$ 3,430.85	
Loss of rental	\$ 401.70	\$66.95 x 6 days
Loss of income	\$ 300.00	\$50 x 6 days
LTA search fees	\$ 7.49	
Proposed Total	\$ 4,140.04	



No.1, Sunview Road #08-15 Eco-Tech@Sunview Singapore 627615

to "Pegasus Engineering & Trading Pte Ltd" within 28 days.

Yours faithfully.
Lionel Chua

Email: lionelchua@pegasusengrg.com.sg

Our Ref: VSR18-25552 for SLV9642E

Tel: 6513 7748 / HP 9628 6508

Date: 01.04.2019

Fax: 6251 3161

Your	Ref: S8M00PXT MC/VO for SMA297B					
		W	VIT	HOUT PREJ	UDICE	
Claim	s Department - Executive In Charge					
AXA I	NSURANCE PTE LTD					
Dear	Sir/Madam,					
ACC	IDENT INVOLVING SLV9642E & SMA297B ON 25	.07.2018				
Refe	r to the above accident and please acknowledge receipt of	f this letter within 14 c	days	i i		
	pears that the accident was caused by your insured. Enc as our client had authorized us to quantify, to act and to				The state of the s	damaged
æ Or	iginal Tax-invoice number IV19/03-1208	police report / police	e res	sult		
O Certificate Of Insurance MSIG & Vehicle search		Vehicle search result	result			
O Le	tter from Grab	Authorisation To Act	- 14	rer / Owner		
O RE	NTAL TARIFF				_	
*Sur	vey under insurance instruction - TAUFIKH					
a)	Cost of repair (inclusive GST)		s	3430.85		
b)	Vehicle Search fees / GIA fees / Police Report fees	Reporting fees	\$	7.49		
c)	Loss of rental _ days @		\$			
d)	Loss of earnings / rental feedays @		\$			
f) (Waiv	Administrative charges to negotiate settlement if 100% offer made within acknowledge timeframe)		\$			
	Total		\$	3438.34		
		-	====		=====	
Driv	er's injury and other losses exclude in this claim.					

If you are agreeable to the above, please forward discharge voucher for our client's signature and payment issued directly

JAURZOUS C 11.27am We with in Toulith.



Service Request Details

Claim

58M00PXT

Reference

None &

Loss Date

July 25, 2018

Request Date

July 26, 2018

Due Date

August 2, 2018

Vendor Name

LKK AUTO CONSULTANTS PTE LTD (TP)

Type of Loss

Third Party Vehicle Damage

Services

Pending verification - Direct Settlement

Actions

Next Step

Agree to perform service

Decline Work

Acres

Vehicle Information

Incident Vehicle Regulation #

SLV9642E

Make

TPVD MAZDA

Model

433

SSEDAN 1.5 AT EU6

Service Address

Primary Contact/Insured

SNG YONG HWEE
BLK 51 STRATMORE AVENUE, #26-195, 140051, Singapore 98799337
crossmarian@hotmail.com

Claim Handler

OH Vale 6568804897 vale.oh@axa.com.sg

Additional Instructions

Messages

Invoices

History

Documents

Assessment

Metrics

Notes

Street Military



51 UBI AVE 1, #01-25 PAYA UBI INDUSTRIAL PARK, SINGAPORE 408933 TEL: (065) 62563561 FAX: (065) 62564315

04 APRIL 2019

SNG YONG HWEE BIK 51, STRATHMORE AVE SINGAPORE 140051

Dear Sir/Madam,

OUR REF

: CC4/ASM18013690/T1ja3

YOUR REF

: SMA 297B

ACCIDENT INVOLVING SMA 297B AND SLV 9642E ALONG MARINA BOULEVARD ON 25.07.2018

We refer to the above subject matter. We write to inform you that we are the loss adjuster appointed by your motor insurer, AXA Insurance Singapore Pte Ltd to deal with the third party claim against your policy.

We have received a claim from M/s PEGASUS ENGINEERING & TRADING PTE LTD acting on behalf of the owner of SLV 9642E against your motor insurance policy.

Based on the accident report and accident scenario, it was reported that your vehicle had hit Third Party vehicle from the rear. As such, liability is down against us.

Please be informed that your No Claim Discount (NCD) may be affected as a result of the claim against your policy.

We shall proceed to deal with the claim(s) subject to the merits of the case and according to the rights afforded under the policy. Should you not be seeking the protection of your policy and seek to take conduct of third party claim(s) arising from this incident, at your own cost and defence, please reply to us within 10 days from the date of this letter. Your intent must be formally expressed to us and acknowledged by us.

Your full co-operation in the handling of the claim is required and kindly submit the following to joyirene@lkkauto.com within 10 days from the date of this letter if not provided at our reporting centre. The list below is not all inclusive and further document may be required:

- Police report, Police Investigation result, appeal against the Traffic Police offence and status (if any)
- Driver's driving license or foreign driving license (if any)
- Coloured photographs of accident scene (if any)
- Coloured photographs of damage to all vehicles involved (If any)
- Video footage of accident (if any)
- Statement and/or police report from independent witness(es) (if any)
- If you or your passenger(s) are filing a claim against any of the involved Third Party(s), you are to keep us informed of your legal representative(s) and the status of the claim



51 UBI AVE 1, #01-25 PAYA UBI INDUSTRIAL PARK, SINGAPORE 408933 TEL: (065) 62563561 FAX: (065) 62564315

To protect your interest(s) in the handling of this claim, please do not discuss liability with any of the Third Party(s) and/or their legal representatives, or make any compromise or settlement without AXA's prior knowledge and consent.

This letter should **not** be regarded as a waiver by AXA of their rights to repudiate any claim because of any breach of policy terms and conditions you and/or your authorised driver may have committed.

In the event of receiving and handling of any third party injury claim(s), AXA shall keep you informed of the final indemnity upon conclusion of the matter(s).

If you need any clarification, please do not hesitate to contact us at 6256 3561 or email us at joyirene@lkkauto.com.

Please quote the claim reference when you contact us that we can assist you more effectively.

Yours sincerely,

Joy Irene Case Handler DID: 6841 2409 FAX: 6741 4108

Email: joyirene@lkkauto.com

c.c. AXA Insurance Singapore Pte Ltd (AXA)
(Motor Claims Dept)

AUTHORIZATION TO ACT

TO: PEGASI	JS ENGINEER	ING & TRADI	ING PTE LTD			
FROM: HIRE	ER OF VEHICL	E NUMBER _	SLV 9647	E		
ACCIDENT	INVOLVING _	SMA 297 B				
ALONG/AT	JUNCTION	OF MARINA	BULEVARD	AHD	MARIHA WAY	
	authorize you t ing the repair					loss of rental /
This letter s	serve as the ""	AUTHORITY	TO ACT'.			
	eby authorize o		7. 7	nent be	made in favour	to PEGASUS
Name	: Grab Renta	ls Pte Ltd				
Co Reg No	: 2016172000	9				
Address	: 18 Sin Ming	Lane #01-08	Midview Cit	y Singa	pore 573960	
Contact	: 6655 0005					
Date	;					
Signature						
Owner						





WITHOUT PREJUDICE TO

(a) Insurance Subrogated Claim and/or (b) Any Claims Note: This Notice supersedes any inconsistencies found in this Discharge Voucher!

"The contents of this document apply to vehicle damages only. All personal injuries and damages arising therefrom are excluded from the ambit and application of this document."

AXA THIRD PARTY DIRECT SETTLEMENT

Vehicle No:	SMA 297B	(Insd veh)		
	SLV 9642E	(TP veh)	Model: MAZDA 3	
Date of Accident/Time:	25/07/2018			

Managara Washing		1.6	1 0 0 0 1 1	
Repair Estin			15,948.6	
Final Repair	Cost GST	: 5	3,430.85	
Loss of Use		:5	days at \$	per day
Rental (if an	19)	:5	days at \$	per day
LTA / GIA Se	earch Fee	:5	7.49	
Others		:5		
		:\$		
Final Settle	ment Sum	: 5	3,438.34	
Payee Nam	e : PEGASUS ENGI	NEERIN	IG & TRADING PTE LTD	
	ty Workshop GIA Regist		[] YES [X] NO (Kindly indicate below)	
A)	For Non GIA Registe	ered Work	shop: Agreed Liability 100% (%)	
B)	For GIA Registered	Workshop	BOLA Applicable: Yes/ No BOLA Scenario No:	
	BOLA Liability:	(%)	Assessed Liability (*):(%)	
	* Assessed Liability	to be filled	only for chain collisions and for cases where BOLA does not apply.	
Remarks:				

NOTE:

- 1. PLEASE EXPRESSLY RESERVE YOUR CLIENT'S RIGHTS IF SO REQUIRED IN THIS SETTLEMENT DOCUMENT.
- THIS SETTLEMENT IS ON A WITHOUT PREJUDICE BASIS AND SHOULD NOT CONSTRUED AS AN ADMISSION OF LIABILITY ON AXA AND THEIR CLIENT/TORTFEASOR IN ANY MANNER WHATSOEVER.
- 3. AXA RESERVES THEIR RIGHTS UNDER THE POLICY TERMS & CONDITIONS AS WELL AS THEIR RIGHTS IN LAW.

Only applicable to rental claim - All document are to be submitted with this settlement confirmation. In the event, rental agreement / invoices are not received within 7 days of this signed confirmation, we will automatically revert to loss of use claim per the NIMA rates.

We/I confirmed that this is a full and final settlement that we and or our client have/had/has against you (AXA and their policyholder/authorised driver/tortfeasor) for any and all losses (past/present/future) arising from this accident.

We confirmed that we have the authority of our client to act for and on their behalf in this accident.

Pauline

Signature of workshop representative / Workshop stamp Name of Representative: Pauline Name

Date: 05/07/2019

Signature of Witness / Workshop stamp (if applicable) Name of Witness: CHIN VIDW (HERA

Date: 5/7/2019

Signature of AXA's surveyor/representative Name of AXA's surveyor /Representative:

Date:



GST / ROC COMPANY NO: 201101753C

Tax Invoice

From:

PEGASUS ENGINEERING & TRADING PTE LTD

74 KIAN TECK ROAD SINGAPORE 628800

Officer in Charge: WEE TZE FAH

Tel:

Email:

Remarks:

Customer:

GRAB RENTALS PTE LTD

18 SIN MING LANE #01-08 MIDVIEW CITY SINGAPORE 573960

Attn::

Tel:

Fax No.:

 INV No. : IV19/03-1208
 Inv Date : 23/03/2019
 Term : 30 DAYS

 Vehicle No. : SLV9642E
 Chassis No. : JM6BN22A8H0163034

 Model : MAZDA 3
 Term : 30 DAYS

 ITEM
 DESCRIPTION
 Qty
 UNIT PRICE
 AMOUNT (SGD)

 1
 TO PART BY PART REPAIR AS RECOMMENDED BY SURVEYOR 1
 3,206,4000
 3,206,400

TAUFIKH

Cheques should be crossed & made payable to PEGASUS ENGINEERING & TRADING PTE LTD

Sub Total GST(7.00%) Total (SGD) 3,206.40 224.45 3,430.85

PEGASUS ENGINEERING & TRADING PTE LTD



Authorised Signature



Our Reft GR-ACC-2017-02

01 June 2017

Pagasus Engineering & Trading Pte Ltd No. 51 Defu Lane 10 Singapore 539216 Mailing Address 16 Sin Ming Lane, #01-08 Midview City, Singapore 573980 Co. No. 201617200G

To whom it may concern,

Re: Vehiola Rental Rates for Loss of Rental Claims.

With regards to the above subject matter, we are pleased to inform you our Grab Rental rate for our various vehicles which are as follows:

S/No.	Make & Model	Bally Rental Rates (S\$)
01	Toyota Prius 1,798cc, 90kw, 120bhp, Autometic	\$ 79,95
02	Mazda 3 1.5 (A) Sedan	\$ 66,95 .
03	Nissan Qashqal 1.2L	\$78,95
04	Honda Vezél 1.5L	\$77,95
05	Honda Vezel 1.5L Hybrid	\$84.95
06	Toyota Vios 1.5L	\$86.95

Please note that the above stated rate is our daily rental rate to our drivers. For your necessary actions on third party accident claims on less of rental.

Yours falthfully,

Tay Ohee Wee Grab Rental Pte Ltd 7/26/2018 Vehicle Hub

Enquire Vehicle & Owner Information (Vehicle No. SMA297B As At 25 Jul 2018 / 20:00:00)

Law Firm Search Details

Insurance claim in relation to traffic accident Search Reason:

SLV9642E Law Firm Case No.:

Current Owner Details

Owner ID Type:

Singapore NRIC

Owner ID:

59127046C

Owner Name:

SNG YONG HWEE

Registered Address Type:

HD8/HUDC

Registered Block/House No.: 51

Registered Street Name:

STRATHMORE AVENUE

Registered Unit No.:

#26-195

Registered Building Name: -

Registered Postal Code:

140051

Current Vehicle Details

Vehicle No.:

SMA297B

Make Description/Model: TOYOTA / SIENTA 1.5 CVT ELEGANCE

Insurance Company Name: AXA INSURANCE PTE LTD



Lee Ming Hui Kelvin has successfully logged out. Your last login date and time was 26 Jul 2018, 15:39:51.

To return to ONE MOTORING, please click here

For security reasons, please CLEAR YOUR CACHE after each session.

Session Transaction History

5/No.43	Asset Type:	Asset10	Auset Owner ID	Transaction Type:	Transaction Amount(S\$80	
1	Vehicle	SMA297B	-	18.19 Enquire Veh Owner Info (Others) by Law Firm	7.49	



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

- 1 - 1 - 1 - 1	Affiliated to Federation Interna	ationale Des Experts En Autom	oblie
AXA INSURANCE PT	E LTD	Ref : CC4/ASM18013	3690/T1ha3q2
8 SHENTON WAY #2- AXA TOWERSINGAP ATTN:VALE OH		Date: 25-07-2019 Code: ASM	
1.	Policy Particula	rs :- THIRD PARTY CLAIR	M
Insured Veh.	SMA 297B	Veh. Inspected	SLV 9642E
Policy No.	VPA/P2127201	Coverage (\$)	0.00
Claim No.	S8M00PXT	Excess (\$)	0.00
Assign From		Assign Date	26/07/2018
2.	Vehicle Pa	rticulars & Condition	
Make & Model	MAZDA 3	c.c	1496
Engine No.	HIDDEN	Year of Reg.	2018
Chassis No.	JM6BN22A8H0163034	Colour	BLUE
Odometer		Steering	IN ORDER
Brakes	IN ORDER	Modification	SPORTS RIM
General	GOOD		
3.	Cond	litions of Tyres	
	Size	Make	Balance
R/H Front Tyre	205/60 R16	WEST LAKE	6 mm
L/H Front Tyre	205/60 R16	WEST LAKE	6 mm
R/H Rear Tyre	205/60 R16	WEST LAKE	6 mm
L/H Rear Tyre	205/60 R16	WEST LAKE	6 mm
4.		otion of Damages	
THE VEHICLE SU DAMAGES SEE D	STAINED DAMAGES AT THE F DETAILS.	REAR O/S PORTION.	
5.	Gene	ral Information	
Accident Date	25/07/2018	Inspection Date	26/07/2018
Survey held at	PEGASUS ENGINEERING &	TRADING PTE LTD	
	51 DEFU LANE 10 SINGAPORE 539216		
5a.		Remarks	a she up between
A)THE INSPECTION B)IN ACCORDANGE	ON WAS CONDUCTED ON A"W CE TO YOUR INSTRUCTIONS,	VITHOUT PREJUDICE" BASI WE HAVE NOT AUTHORISE	S. ED REPAIRS.
5b.	Estimat	te Days of Repair	
ESTIMATED NOR	MAL PERIOD FOR REPAIR:	4 Working Days	1



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 3

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SLV 9642E

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	BOOTLID (CONSISTENT)	TO REPAIR SEE LABOUR	958.00	,
1	BOOTLID MAZDA 3 BADGE (CONSISTENT)	NECESSARY	54.00	54.00
1	BOOTLID SKYACTIV BADGE (CONSISTENT)	NECESSARY	64.00	64.00
-1	BOOTLID CENTRE EMBLEM BADGE (CONSISTENT)	NECESSARY	×75.00	75.00
2	BOOTLID REFLECTORS @\$265.00 (CONSISTENT)	NOT NECESSARY	-530.00	
1	BOOTLID INNER TRIM (CONSISTENT)	NOT NECESSARY	_121.00	9
-4	BOOTLID INNER TRIM CLIPS @\$5.00 (CONSISTENT)	NOT NECESSARY	20.00	
2	BOOTLID RUBBER STOPPERS @\$13.00(CONSISTENT)	NOT NECESSARY	26.00	
1	BOOTLID LOCK (CONSISTENT)	NOT NECESSARY	153.00	-
1	BOOTLID STRIKER BOTTOM (CONSISTENT)	NOT NECESSARY	_ 35.00	
1	BOOTLID WEATHERSTRIP (CONSISTENT)	NOT NECESSARY	130.00	
2	BOOTLID HINGES @\$146.00 (CONSISTENT)	NOT NECESSARY	292.00	
1	BOOTLID KEYLESS SENSOR (CONSISTENT)	NOT NECESSARY	~78.00	
1	REAR END PANEL (CONSISTENT)	TO REPAIR SEE LABOUR	-506.00	3
1	REAR END PANEL INNER TRIM (CONSISTENT)	NOT NECESSARY	86.00	,
4	REAR END PANEL INNER TRIM CLIPS @\$5.00 (CONSISTENT)	NOT NECESSARY	20.00	-
2	REAR LAMPS @\$504.00 (CONSISTENT)	NOT NECESSARY	1,008.00	
-2	REAR LAMP PANEL @\$358.00 (CONSISTENT)	NOT NECESSARY	716.00	
8	REAR LAMP HOLDER CLIPS @\$26.70 (CONSISTENT)	NOT NECESSARY	-213.60	
1	REAR BUMPER (CONSISTENT)	DEFORMED	1,075.00	1,075.00
2	REAR BUMPER REFLECTORS @\$51.00 (CONSISTENT)	N/S NOT NECESSARY / O/S CRACKED	102.00	51.00
1	REAR BUMPER END SPLASHIELD COVER (CONSISTENT)	NOT NECESSARY	80.00	
10	REAR BUMPER CLIPS @\$5.00 (CONSISTENT)	NECESSARY	/50.00	50.00
1	REAR BUMPER REINFORCEMENT (CONSISTENT)	BENT	538.00	538.00
2	REAR BUMPER SIDE RETAINERS @\$37.00 (CONSISTENT)	N/S NOT NECESSARY / O/S NECESSARY	74.00	37.00

Report Ref No. CC4/ASM18013690/T1ha3q2



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.: 2 of 3

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	REAR BUMPER SIDE HOLDERS @\$46.00 (CONSISTENT)	N/S NOT NECESSARY / O/S NECESSARY	92.00	46.00
4	REAR BUMPER SIDE HOLDER RIVETS @\$9.00 (CONSISTENT)	NOT NECESSARY	36.00	
2	REAR BUMPER TOW COVER @\$18.00 (CONSISTENT)	N/S NOT NECESSARY / O/S MISSING	_ 36.00	18.00
4	REAR BUMPER SCREW SPACER @\$8.00 (CONSISTENT)	NOT NECESSARY	/ 32.00	
1	REAR LUGGAGE FLOOR PANEL TRIMBOARD (CONSISTENT)	NOT NECESSARY	350.00	
1	REAR LUGGAGE FLOOR PANEL FOAM COMPARTMENT TOOL (CONSISTENT)	NOT NECESSARY	y 166.00	,
2	REAR LICENSE PLATE LAMP @\$72.00(CONSISTENT)	NOT NECESSARY	144.00	9
1	REAR LICENSE PLATE GARNISH (CONSISTENT)	NOT NECESSARY	50.00	
2	REAR FENDER @\$1175.00 (CONSISTENT)	NOT NECESSARY	/2,350.00	9
	REAR FENDER INNER COWLING @\$235.00 (CONSISTENT)	NOT NECESSARY	470.00	-
	REAR FENDER INNER COWLING CLIPS @\$5.00 (CONSISTENT)	NOT NECESSARY	× 40.00	=
2	REAR FENDER LOWER PANEL @\$356.00 (CONSISTENT)	NOT NECESSARY	- 712.00	
	LESS 20% DISCOUNT		-2,296.52	-401.60
			9,186.08	1,606.40
	SPECIAL NETT ITEMS			
1	REAR BUMPER PARKING SENSOR (SN) (CONSISTENT)	CUT	450.00	200.00
1	REAR LICENSE PLATE (SN) (CONSISTENT)	NOT NECESSARY	80.00	
			530.00	200.00
	LABOUR			
	TO CHECK ELECTRICAL LIGHTING CONCERNED.		120.00	30.00
	TO RUST-PROOFING OF THE AFFECTED AREAS.		120.00	30.00
- 1	TO REMOVE AND REFIT INTERIOR FITTINGS, TRIMINGS, GARNISH, FITTINGS AND OTHER , TO ENABLE REPAIR.		150.00	60.00
	TO TRANSFER OF BOOTLID FITTINGS ,ATTACHMENTS AND PERFORM WATER SEEPAGE TEST.	NOT NECESSARY	160.00	•
- 1	TO REINSTALL OF REAR BUMPER PARKING SENSOR .		120.00	30.00

Report Ref No. CC4/ASM18013690/T1ha3q2



RECOMMENDED COST OF REPAIRS

LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 3

3,206.40

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	PANEL BEATING ,KNOCKING AND STRAIGHTENING THE NECESSARY PORTION, REMOVE AND RENEWAL OF PARTS ,ADJUST AND REALIGN THE SAME INCLUSIVE OF THE REPAIR OF BOOTLID AND REAR END PANEL .		1,200.00	600.00
	PUTTY AND SPRAY PAINTING OF THE AFFECTED PORTION.		1,400.00	600.00
	TOWING.		50.00	50.00
			3,320.00	1,400.00
	GRAND TOTAL		13,036.08	3,206.40

Report Ref No. CC4/ASM18013690/T1ha3q2

MOHAMAD TAUFIKH

M.MATAI, AMSAE-A

Automotive Assessor

HO LEONG CHUAN

Automotive Assessor

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party scling or replying on this Report, in whole or in part, does so at his or her own risk.

SERVICE REQUESTS

*

MESSAGES

CLAIMS

Service Request Details

Vehicle Information	Insident Vehicle SLV9642E Registration #	Make TPVD MAZDA	Model 3 SEDAN 1.5 AT EU6	Service Address	3	Primary Contact/Insured	SNG YOMO HAVEE BLK S1 STRATMORE AVENUE, #26-195, 140051. Smeadore	98799337 crossmartan@hotmall.com	Claim Handler	OH Vale 6568804897 vale.oht@axa.com.sg					ANTHOR UNLANDED	
Actions	Next Step Walt for Approve invoke	Add Proyect									rt Metrics Notes	4			SAM-TYPE	
V	CC4/ASH110013690/T1ha3q2		424:00 PM	r 2018		LKK AUTO CONSULTANTS PTE. LTD (TP)	Third Party Militle Damage	Pending verification - Direct Settlement			History Documents Assessment	Document SulType	•		Ret	
Claim SBM00PXT	Reference CC4/ASM186	Loes Date 25 Adv 2018	Report Date 26 Jul 2018 424:00 PM	Request Date 26 September 2018	Due Date	Vendor Name LKK AUTO C LTD (TH)	Type of Loss Third Party W	Services Pending verili Settlement		Additional Instructions	Messages (wolces His	Document Type	*	+ Uping Douglaining	PARAME	

DE .
lices
T VC
de.
1981
20
Ē
E
돭
ane
Re
No
788
Sta.
adne
Ĭ,
ž
器盤
Ē
rsts.
9000
9
×
5
DE-Sen
endor-sen
ex-vendor-sen
index-vendor-sen
ntml/index-vendor-sen
tal/html/index-vendor-sen
-partal/html/index-vendar-sen
laim-portal/html/index-vendor-sen
ġ.
JM.S
a.com.sg/
s.axa.com.sg/
claims.axa.com.sg/
artclaims.axa.com.sg/
tclaims.axa.com.sg/

TIMO	LKK AUTO CONSULTANTS 26 July PTE LTD (TP) 2019	LHX ALTO CONSULTANTS 26 July PTE LTD (TP) 2019	UKK AUTO CONSULTANTS 26 July PTE LTD (TP) 2019	LUK AUTO CONSULTANTS Z6 AUF PTE LTD (TP) 2019	LIKK AUTO CONSULTANTS 26 ANY PTE LTD (TP) 2019	UKK AUTO CONSULTANTS Z6 JAN PTE LTD (7P) 2019	LICK AUTO CONSULTANTS 26 July PTE LTD (FP) 2019	LIKK AUTO CONSULTANTS 26 July PTE LTD (TP) 2019	HIX AUTO CONSUCTANTS 4 April PTE CTD (79) 2019	LIOX AUTO CONSULTANTS 14 August PTE LTD (TP) 2018	LEX AUTO CONSULTANTS 16 August PTE LTD [79] 2018	LIXX AUTO CONSULTANTS 14 August PTE LTD (TP) 2018	27 AAN 2018	
AUTHOR	LICK AUTO CO PTE LTD (TP)	LKK ALITO CC PTE LTD (TP)	UNICAUTO CO PTE LTD (TP)	UKK AUTO CO PTE LTD (TP)			DOC AUTO CO		LION AUTO O	LIOX AUTO CO PTE LTD (TP)	LECK AUTO O		Covernote / OH Vale	
SAR TYPE	Chain Others	Claim Others	Claim Others nts	Claim Others nts	Claim Satisfaction / Discharge Vascher nts	Claim POA / Authority Letter nts	Repairer	nd Pulicy Holders / Immed	A Others	A Others	S. Others	Estimate / Qualation	Chèm Pulicy Schedule / Covernote / certificate of inurance	
PMT	Forms / Claim Documents	Forms / Claim Documents	Forms / Claim Documents	Furmi / Clain Documents	N_EXPRESS Furns / Claim Documents	TottM pdf Forms / Claim Documents	off brupice	Letters and Correspondence	Sports & Sustement	Reports 6. Statement	Double Reports &	Apperts & Statement	form / Clain Documents	10000000000000000000000000000000000000
Seese	RESCRAL RATES put	LTA SEARCHart	LKKimpestion (2) poli	LXXAquementa (3.pdf	■PAYMENT BREAKDOWN, EXPRESS SETTLEMENT FORM,pdf	AUTHORISATION TO ACT FORM pell	WORKSHOP INVOICE aut	LETTER TO OLUGE	MANDATE IA - PEGASUS pat	immediate Advice put	■ LIOK INSPECTION PHOTO polt	TP ESTIMATE - MAHKED pet	P2127201, 548,00001, 1, puff	

2
8
픙
2
T
설
100
8
=
φ
- 5
ă
Ę
ź
节
3
2
D.
8
3
9
5
护
SB
5
1
ф
20
5
8
題
E
5
픐
2
ŏ
무
央
Š
9
30
5
ĕ
3
×
8
E
E
£
音
E
ğ
Ė
ē
n.sq/cl
SG
SOM.
8
2
100
-
daim
22
240
E
- 100
ξ
isi
#
Ē

DATE	26 Auty 2018	26 July 2018
ясиции	DHAKAL Raghav	DHANGAL Raphan
Suntainess	GIA Report	Workshop
MAL	Reports & Statement	Correspondence
HAME	SMADY/R HSD GALREPORT/POF	■ TP PRI RECEIVED FROM WORKSHOP WITH GIA REPORT.mug.